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TERRAIN EFFECTS CHART

Hex TyrE MoveMENT CosT CowmBAT EFFECTS OTHER EFFECTS

Clear 1 Movement Point None None

Supply Source Not Applicable None Provides supply

Town Other Terrain in hex None None

Airfield Other Terrain in hex None Provides 2 Allied Air Points

Tobruk 1 Movement Point None Supply source for
Allied units inside
fortification line

}) Box 1 Movement Point None Supply source for
1 British Brigade

in hex

Hexsipe TyYPE

+4 Non-mechanized All units combat values
Escarpment halved when attacking across None

+5 Mechanized

1/2 Movement allowance If all attackers are attacking across,

. L . . add 1 to the attacker’s result; AXxis cannot trace
Minefield for Axis units to cross neither Axis nor Allied units supply across
no effect for Allies have to attack across
Tobruk 1/2 Movement allowance {?"iﬁd units’ strength"dxu_bled
e o . . if all are inside and all Axis
F_ort|f|cat|on for Axis units to cross attackers are outside; Allies do not None
Line no effect for Allies have to attack across
Trail 1/2 Movement Point None None

1/2 Movement Point
Road for non-mechanized None None

1/3 Movement Point

for non-mechanized
Note: Units pay costs for trails and roads only if they move along them; if they move into such a hex
from another, including a non-connected road or trail hex, then they pay the cost for the other terrain.

COMBAT ODDS
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1/0{1/1|0/1{0/1|0/3 |O/E|O/E|O/E
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